
<latexit sha1_base64="YEmOUafARyn367cE5wck4QbuBWE=">AAACHHicbVA9SwNBEN3z2/gVtbRZDEJswp1KtBGCNhYWKvmCJIS9zVxcsnt37M4J4bgfYuNfsbFQxMZC8N+4iSnU+GDg8d4MM/P8WAqDrvvpzMzOzS8sLi3nVlbX1jfym1t1EyWaQ41HMtJNnxmQIoQaCpTQjDUw5Uto+IPzkd+4A21EFFZxGENHsX4oAsEZWqmbP7wRZkBPaTvQjKcNwLNE+t20CirOsvRSKIHF3+p+1s0X3JI7Bp0m3oQUyARX3fx7uxfxREGIXDJjWp4bYydlGgWXkOXaiYGY8QHrQ8vSkCkwnXT8XEb3rNKjQaRthUjH6s+JlCljhsq3nYrhrfnrjcT/vFaCwUknFWGcIIT8e1GQSIoRHSVFe0IDRzm0hHEt7K2U3zIbE9o8czYE7+/L06R+UPLKpfL1UaFyNoljieyQXVIkHjkmFXJBrkiNcHJPHskzeXEenCfn1Xn7bp1xJjPb5Becjy93AqJG</latexit>

Risk =
WetBulbTemp

Limit(WetBulbTemp)


